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Abstract:  What is the Michelson-Morley experiment?  This is where the big mistake of modern science begins. What 

is the Michelson and Morley experiment?  This is an experiment conducted to learn about ether.  This means that the 

Earth orbits the Sun at a speed of 29 km per second.  Michelson and Morley found it to be an easy way to get to know 

Ether.  The variable gauge was developed by Michelson based on the classic idea that the speed of the Earth's change 

in the frequency of light.  But they could not detect in the light even a frequency variation of 29 km and 2 

km.  Michelson and Morley published their findings in a journal as a skeptical view.  The news that ether could not 

be detected shook the world.  This led me to read Albert Einstein.  Albert did not have the knowledge to correct that 

misconception.  Thus an illusory universe was being created in his mind. 
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What is the Michelson-Morley experiment?  This is 

where the big mistake of modern science begins. 

 

What is the Michelson and Morley experiment?  This is 

an experiment conducted to learn about ether.  This 

means that the Earth orbits the Sun at a speed of 29 km 

per second.  Michelson and Morley found it to be an 

easy way to get to know Ether.  The variable gauge was 

developed by Michelson based on the classic idea that 

the speed of the Earth's change in the frequency of 

light.  But they could not detect in the light even a 

frequency variation of 29 km and 2 km.  Michelson and 

Morley published their findings in a journal as a 

skeptical view.  The news that ether could not be 

detected shook the world.  This led me to read Albert 

Einstein.  Albert did not have the knowledge to correct 

that misconception.  Thus an illusory universe was being 

created in his mind. 

 

 What is a variation device? 

 

The frequency formation of waves in a flowing medium 

is unique.  Wavelength decreases as a wave propagates 

against the flow of media.  But the wavelength increases 

with the waves propagating against the flow.  This 

variance is what Michelson and Morley tried to 

measure.  But it gave birth to world idiots. 

 

 Because the air of ether is not really felt on earth? 

 

Ether orbits the Sun at the same speed as the Earth 

orbits.  That is, ether revolves around the sun just as air 

rotates with the earth as it rotates.  Ether orbits the Sun 

at planetary speeds.  Now you understand what.  The 

Indian Panchabhuta doctrines were rejected by the 

West.  So what happened?  It presented the world's 

physics idiots. 

 

Doppler problem. 

 

Why say the Doppler effect when the Michelson and 

Morley experiments failed.  Doppler effect requires 

ether wind.  Doppler does not work on Albert Einstein's 

theory.  Doppler should not be accepted by modern 

science where Michelson failed.  It has no modern 

scientific potential.  Understand the double tap of 

modern science.  Michelson and Morley philosophically 

reject a stationary ether.  That is, they rejected stationary 

ether.  The ether in Kishore Science is moving.  Know 

that no wave motion is possible in immobile ether.  No 

one before Michelson and Morley has proven that the 

philosophical ether is movable or immovable.  Then the 

question remains on what basis the experiment took 

place.  A dumb doctor claimed the patient was 

dead.  Another doctor raises the dead.  What a paradox. 

 

Morley's experiment has not been repeated in modern 

media, known by new names instead of ether.  If the 

Michelson and Morley experiment is repeated, even the 

Higgs will be out.  If ether wind is not seen at the speed 

of the earth's rotation, then many people are wondering 

at what speed to look.  At any constant speed of the 

closed frame, the air in the frame does not move even 

slightly.  Gravity builds a closed framework on the 

planets 

 

Why was the theory of relativity born? 
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So remember the incident that caused Albert Einstein to 

think.  Where the mistake starts.  Because of the 

Michelson and Morley experiment itself.  The red shift 

was not detected by the ether wind light diffraction 

gauge even slightly at Earth's orbital speed.  So Albert 

thought.  He asserted that if there was no difference at 

small speeds, there would be no difference at large 

speeds.  This means that the red shift is unlikely to be 

visible even at a distance from the galaxy.  How the Red 

Shift was accepted when Albert's theory of relativity 

existed.  Albert was not rejected after relativity.  I was 

amazed at how Albert, the class vision non-classic of the 

Red Shift, grew up in the middle of the theory of 

relativity.  When the magician shows the magic, the 

child who believes completely finds his own reason to 

believe the children who do not see the magic and 

convinces the children.  If the knife enters the body at 

excessive speed, there will be no injury.  Even if the 

wound is caused by speed, it cannot be seen.  Analyzes 

whether the wound dries quickly due to speed.  The 

magician who casually listens to the child's analysis will 

put his finger on his nose.  So did the theory of 

relativity.  Hahaha. 

  

What is Ether or Sky? 

 

We do not experience wind when we are still or when 

the air is still.  Similarly, without air vibration, there is 

no experience of sound.  The experience of heat and 

light occurs when light ether moves. Experience is 

characteristic of the five states of matter.  i.e. 

panchabhuta conditions.  Experience requires material 

motion. 

 Sound travels at a speed of 360 meters per second.  That 

is, if the air around it spreads over three million 

kilometers, that is sky or ether.  The Michelson and 

Morley experiments are proof that ether orbits the 

Earth.  Had that experiment not taken place, a distorted 

theory of relativity and a stupid mathematical equation 

would not have been born.  We must first try to 

understand the cause of all this.  And don’t try to 

interpret Michelson and Morley’s erroneous bases as 

modern science. Michelson and Morley Bayes-raised 

science are all rabid pushovers. 

 

 New experiment that can detect ether. 

 

There is an experiment that can detect ether.  That's what 

research centers like NASA should think.  The draft test 

method for detecting ether is introduced here.  The 

Michelson and Morley method is not the way Ether can 

be proven.  My method No one has put forward this 

method yet.  That's the way it's going to say.  The 

frequency of light falling on each planet varies.  That is, 

the luminosity decreases gradually from Mercury to 

Pluto.  This is due to the rotation of ether, the medium 

of light.  The frequency variation of light coming to the 

earth can be measured in this way.  Earth's orbital speed 

is 29 kilometers per second.  The time it takes for light 

to reach the earth is 8 minutes.  Thus the mathematical 

verb> 29 × 60 × 8 = 13920 km will show the frequency 

variation.  This frequency variation is due to the rotation 

of the ether.  In that vortex the light curves and shows 

the frequency variation.  Then the frequency of the light 

falling on each planet will change.  Thus an artificial 

satellite is needed to measure the frequency variation of 

each planet.  That is, the frequency from the Sun 

changes when it reaches Earth.  If this draft experiment 

is proven, the world will be shaken.  But the reason for 

the prolongation of this experiment is the conservative 

attitude of the world.  You can also experiment with a 

laser. A powerful laser is emitted from Earth to 

Mars.  From there the satellite examines the laser 

lowering laser frequencies.  The laser is emitted from 

Earth to Venus.  Thus an increase in frequency variation 

can be found. 

    

Ether problem and remedy. 

 

Which experiment confirmed that Ether was stationary 

before Michelson and Morley.  (Static ether is just a 

hypothesis, not something that has been experimentally 

confirmed.)  In the experiment of Michelson and 

Morley, I learned that ether moves under the influence 

of gravity.  That is, ether is like air moving with the 

earth.  Feelings are not true.  When Ether was discarded, 

a few new fields were added to replace Ether.  One of 

them is the electromagnetic field.  I do not know how 

the electromagnetic graph migrated into the sky.  What 

came later was that string theory dominated for a while 

and then string theory was rejected.  Today the Gravity 

Field, the Quantum Field, and the Higgs Field 

dominate.  None of these are compatible with each 

other.  No experiments have confirmed whether these 

fields exist.  Just hypothesis.  It is claimed to have been 

proven on the basis of erroneous theories.  And 

sometimes this theory is rejected and a new lie is 

uncovered.  Then the hypocrites will catch the new liar 

and the shameless will justify that science is change. 

 

This article or section needs sources or references that 

appear in credible, third-party publications. 

 

In physics, ether theories (also known as ether theories) 

exist as a medium for the propagation of electromagnetic 

or gravitational forces, a space-filling object, or a field 

of transmission.  After the development of particular 

relativity, theories using substantial ether became 

obsolete in modern physics, which are now being 

replaced by more abstract models. 
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Early modern ethers bear no resemblance to the ether of 

the classical elements to which the name is 

borrowed.  Different types of theories involve different 

concepts of this medium and matter. 

This is the truth 

 

Albert Einstein Relativity Theory Problem and GPS. 

 

Albert Einstein begins the problem of 

relativity.  Michelson Morley is from the 

experiment.  Albert thought this without realizing the 

mistake of Michelson Morley.  Albert theorized that the 

speed of light would remain constant at any given speed 

if the speed of light did not change with the speed of the 

Earth's orbit.  Thus Albert came to the theoretical 

conclusion about light without putting forward any 

philosophical evidence.  Albert's method was first 

theory and then mathematical equation.  Although the 

theory is incorrect, modern science still seeks to implicit 

mathematics.  Modern physics sets out a mathematical 

trump card so that no one questions too much.  No one 

has been able to provide classical evidence for this 

theoretical idea.  The world accepted Albert Einstein's 

theory not because he understood it, but because of its 

mysteries.  Moreover no one tried to find the theoretical 

error of Albert Einstein.  But Albert Science is a big 

mistake in Kishore classical science.  Kishore Science 

Albert pointed out the theoretical error.  There are those 

who think of mathematical equation first and then 

theory.  Even if the theory is wrong, it can make a 

mathematical mess.  Jolsya also performed 

mathematical operations to predict the future.  So is the 

Albert Einstein method.  The distorted theory of 

relativity is a pseudoscience created by Albert's 

ignorance. 

 

How does the Michelson Morley experiment 

work?  Simple method. 

 

Michelson and Morley have never experimented with 

high-speed aircraft or trains.  Practical methods were 

discouraged because ether wind could not be detected in 

the Earth's self-rotation or orbit.  Ether acts like air in the 

gravitational field because it does not feel the air.  The 

fastest vehicle will definitely experience ether.  In 

modern times, Michelson believes that Morley can 

perform accurately at low speeds.  The Michelson 

Morley experiment needs to be revisited. 

 

Why is GPS slow? 

 

The GPS system is slowing down as the Earth's rotation 

speed increases.  At certain times the Earth's rotation 

speed decreases and then the GPS speed increases 

slowly.  The Earth's rotation speed usually increases as 

the flood season approaches.  There are floods in many 

versions.  Ranging from the Magnificent Flood to the 

Kalpa Flood.  The earth is falling into the sun.  But the 

active state of the planets does not allow it.  The 

generation of energy inside the planets creates a strong 

magnetic field.  Then the inside will boil more.  As the 

Earth's magnetic field becomes stronger, the Earth's 

rotation speed increases and the magnetic bubble effect 

increases, causing the Earth to lose weight and rise like 

a hydrogen balloon against the Sun's gravity.  Thus the 

Earth resets the Earth's orbit.  After the flood, the earth's 

rotation speed decreases.  That is, Earth and the planets 

existed for 432 million years.  If not reset, all the planets 

will fall into the sun.  GPS needs to be reset every 4 

years as the Earth's rotation speed increases. 
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